R
)

(_218FZKZ218

MONORACK SPECIFICO - SPECIFIC MONORACK )
MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO

HONDA CBR9OORR '02/'03

VITE ORIGINALE

FIREBLADE MONORACK vie tcel moxao | fvire e mexzo | | ronpewa g exis | | OriGINAL SCREW
SCREW M6X40 SCREW MBx70 WASHER @& 6X18 VIS ORIGINALE
WIS M&EX40 VIS M8x70 RONDELLE @ 6X18 CRIGINAL
ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS SCHRAUBE M&X40 SCHRAUBE M8x70 SCHEIRE @ 6X18 SCHRAUBE
k INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE ) TORMNILLO M&X40 TORNILLO M8x70 ARANDELA @6X18 TORNILLO CRIGINALE
A\ QQTY n-2 (ehx-gx) J . Q'TY n'2 ) \ QOTY ﬂ-z J \ QQTY nl2 J Q‘w n.- Y

e N
ATTENZIONE: CARICO MASSIMO 3 Kg. @
WARNING: MAX LOAD 3 Kg. ﬁ
ATTENTION: CHARGE MAXIMUM 3 Kg.
ACHTUNG: HOCHSTBECASTUNG 3 Kg.
ATENCION: CARGO MAX 3 Kg.

MOUSSE PROTETTIVA
PROTECTION RUBBER
CAQUTCHOUC DE
PROTECTION
MOUSSEGUMMI
GOMA ESPUNOSA

© Copyright 30052003-Rev02, I/y




